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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.422 ±Constant = 13.14 

 0.1718 ±Mean     =   150 

 0.1215 ±Sigma    = 1.944 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.422 ±Constant = 13.14 

 0.1718 ±Mean     =   150 

 0.1215 ±Sigma    = 1.944 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.586 ±Constant = 14.65 

 0.1541 ±Mean     = 150.6 

 0.1089 ±Sigma    = 1.743 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.586 ±Constant = 14.65 

 0.1541 ±Mean     = 150.6 

 0.1089 ±Sigma    = 1.743 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 1.741 ±Constant = 16.09 

 0.1403 ±Mean     = 150.5 

 0.0992 ±Sigma    = 1.587 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.741 ±Constant = 16.09 

 0.1403 ±Mean     = 150.5 

 0.0992 ±Sigma    = 1.587 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.844 ±Constant = 17.04 

 0.1325 ±Mean     = 148.3 
 0.09366 ±Sigma    = 1.499 

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.844 ±Constant = 17.04 

 0.1325 ±Mean     = 148.3 
 0.09366 ±Sigma    = 1.499 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.321 ±Constant = 12.21 

 0.1849 ±Mean     = 149.1 
 0.1307 ±Sigma    = 2.092 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.321 ±Constant = 12.21 

 0.1849 ±Mean     = 149.1 
 0.1307 ±Sigma    = 2.092 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.528 ±Constant = 14.11 

 0.1599 ±Mean     = 146.2 
 0.1131 ±Sigma    = 1.809 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.528 ±Constant = 14.11 

 0.1599 ±Mean     = 146.2 
 0.1131 ±Sigma    = 1.809 
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Chip 0 Gain at 2.00fC Nent = 128    

 1.814 ±Constant = 16.76 
 0.1347 ±Mean     = 57.18 
 0.09523 ±Sigma    = 1.524 

Chip 0 Gain at 2.00fC Nent = 128    

 1.814 ±Constant = 16.76 
 0.1347 ±Mean     = 57.18 
 0.09523 ±Sigma    = 1.524 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.074 ±Constant = 19.16 
 0.1178 ±Mean     = 57.31 
 0.08328 ±Sigma    = 1.333 

Chip 1 Gain at 2.00fC Nent = 128    

 2.074 ±Constant = 19.16 
 0.1178 ±Mean     = 57.31 
 0.08328 ±Sigma    = 1.333 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.094 ±Constant = 19.34 
 0.1167 ±Mean     = 56.94 
 0.0825 ±Sigma    =  1.32 

Chip 2 Gain at 2.00fC Nent = 128    

 2.094 ±Constant = 19.34 
 0.1167 ±Mean     = 56.94 
 0.0825 ±Sigma    =  1.32 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.685 ±Constant =  24.8 
 0.09099 ±Mean     = 54.42 

 0.06433 ±Sigma    = 1.029 

Chip 3 Gain at 2.00fC Nent = 128    
 2.685 ±Constant =  24.8 
 0.09099 ±Mean     = 54.42 

 0.06433 ±Sigma    = 1.029 
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Chip 4 Gain at 2.00fC Nent = 128    
 1.889 ±Constant = 17.45 

 0.1293 ±Mean     = 55.88 

 0.09146 ±Sigma    = 1.463 

Chip 4 Gain at 2.00fC Nent = 128    
 1.889 ±Constant = 17.45 

 0.1293 ±Mean     = 55.88 

 0.09146 ±Sigma    = 1.463 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.052 ±Constant = 18.96 

 0.119 ±Mean     = 53.35 

 0.08417 ±Sigma    = 1.347 

Chip 5 Gain at 2.00fC Nent = 128    
 2.052 ±Constant = 18.96 

 0.119 ±Mean     = 53.35 

 0.08417 ±Sigma    = 1.347 
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Chip 0 Extrapolated Offset Nent = 128    
 2.879 ±Constant =  26.6 

 0.1697 ±Mean     = 34.72 
  0.12 ±Sigma    =  1.92 

Chip 0 Extrapolated Offset Nent = 128    
 2.879 ±Constant =  26.6 

 0.1697 ±Mean     = 34.72 
  0.12 ±Sigma    =  1.92 
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Chip 1 Extrapolated Offset Nent = 128    
  2.97 ±Constant = 27.43 

 0.1645 ±Mean     = 34.69 
 0.1163 ±Sigma    = 1.861 

Chip 1 Extrapolated Offset Nent = 128    
  2.97 ±Constant = 27.43 

 0.1645 ±Mean     = 34.69 
 0.1163 ±Sigma    = 1.861 
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Chip 2 Extrapolated Offset Nent = 128    
  2.92 ±Constant = 26.97 

 0.1674 ±Mean     = 34.41 
 0.1183 ±Sigma    = 1.893 

Chip 2 Extrapolated Offset Nent = 128    
  2.92 ±Constant = 26.97 

 0.1674 ±Mean     = 34.41 
 0.1183 ±Sigma    = 1.893 
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Chip 3 Extrapolated Offset Nent = 128    

 3.429 ±Constant = 31.67 
 0.1425 ±Mean     =  37.7 
 0.1008 ±Sigma    = 1.612 

Chip 3 Extrapolated Offset Nent = 128    

 3.429 ±Constant = 31.67 
 0.1425 ±Mean     =  37.7 
 0.1008 ±Sigma    = 1.612 
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Chip 4 Extrapolated Offset Nent = 128    

 3.152 ±Constant = 29.12 
 0.155 ±Mean     = 36.45 
 0.1096 ±Sigma    = 1.754 

Chip 4 Extrapolated Offset Nent = 128    

 3.152 ±Constant = 29.12 
 0.155 ±Mean     = 36.45 
 0.1096 ±Sigma    = 1.754 
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Chip 5 Extrapolated Offset Nent = 128    

 2.925 ±Constant = 27.02 
 0.1671 ±Mean     = 38.42 
 0.1181 ±Sigma    =  1.89 

Chip 5 Extrapolated Offset Nent = 128    

 2.925 ±Constant = 27.02 
 0.1671 ±Mean     = 38.42 
 0.1181 ±Sigma    =  1.89 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 3.921 ±Constant = 36.22 

 4.154 ±Mean     =  1404 

 2.937 ±Sigma    =    47 

Chip 0 Input Noise at 2.00fC Nent = 128    
 3.921 ±Constant = 36.22 

 4.154 ±Mean     =  1404 

 2.937 ±Sigma    =    47 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

45

Chip 1 Input Noise at 2.00fC Nent = 128    
 5.178 ±Constant = 47.83 

 3.145 ±Mean     =  1376 

 2.224 ±Sigma    = 35.58 

Chip 1 Input Noise at 2.00fC Nent = 128    
 5.178 ±Constant = 47.83 

 3.145 ±Mean     =  1376 

 2.224 ±Sigma    = 35.58 
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Chip 2 Input Noise at 2.00fC Nent = 128    

 5.876 ±Constant = 54.28 
 2.772 ±Mean     =  1343 

  1.96 ±Sigma    = 31.36 

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.876 ±Constant = 54.28 

 2.772 ±Mean     =  1343 

  1.96 ±Sigma    = 31.36 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 5.417 ±Constant = 50.04 
 3.007 ±Mean     =  1376 
 2.126 ±Sigma    = 34.02 

Chip 3 Input Noise at 2.00fC Nent = 128    

 5.417 ±Constant = 50.04 
 3.007 ±Mean     =  1376 
 2.126 ±Sigma    = 34.02 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 3.989 ±Constant = 36.84 
 4.083 ±Mean     =  1409 
 2.887 ±Sigma    =  46.2 

Chip 4 Input Noise at 2.00fC Nent = 128    

 3.989 ±Constant = 36.84 
 4.083 ±Mean     =  1409 
 2.887 ±Sigma    =  46.2 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 3.907 ±Constant = 36.09 
 4.168 ±Mean     =  1439 
 2.947 ±Sigma    = 47.16 

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.907 ±Constant = 36.09 
 4.168 ±Mean     =  1439 
 2.947 ±Sigma    = 47.16 



ATLAS SCT Module Test:  Response Curve  -  Fri May 16 19:41:57 2003  -  KEK

Page 2   Run 5330   Start Scan 44   Stream 0   Module 3 (20220170200400mDaqLTL) - Type .

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 0 Response Curve Nent = 0      Chip 0 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 1 Response Curve Nent = 0      Chip 1 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 2 Response Curve Nent = 0      Chip 2 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 3 Response Curve Nent = 0      Chip 3 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 4 Response Curve Nent = 0      Chip 4 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 5 Response Curve Nent = 0      Chip 5 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 0 Gain Nent = 0      Chip 0 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 1 Gain Nent = 0      Chip 1 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 2 Gain Nent = 0      Chip 2 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 3 Gain Nent = 0      Chip 3 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 4 Gain Nent = 0      Chip 4 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 5 Gain Nent = 0      Chip 5 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 0 Output Noise Nent = 0      Chip 0 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 1 Output Noise Nent = 0      Chip 1 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 2 Output Noise Nent = 0      Chip 2 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 3 Output Noise Nent = 0      Chip 3 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 4 Output Noise Nent = 0      Chip 4 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 5 Output Noise Nent = 0      Chip 5 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 0 Input Noise Nent = 0      Chip 0 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 1 Input Noise Nent = 0      Chip 1 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 2 Input Noise Nent = 0      Chip 2 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 3 Input Noise Nent = 0      Chip 3 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 4 Input Noise Nent = 0      Chip 4 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 5 Input Noise Nent = 0      Chip 5 Input Noise Nent = 0      



ATLAS SCT Module Test:  Response vs. Channel  -  Fri May 16 19:41:57 2003   -  KEK

Page 3   Run 5330   Start Scan 44   Stream 1   Module 3 (20220170200400mDaqLTL) - Type .
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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.553 ±Constant = 14.35 

 0.1573 ±Mean     =   153 

 0.1112 ±Sigma    =  1.78 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.553 ±Constant = 14.35 

 0.1573 ±Mean     =   153 

 0.1112 ±Sigma    =  1.78 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.487 ±Constant = 13.73 

 0.1643 ±Mean     = 150.4 

 0.1162 ±Sigma    = 1.859 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.487 ±Constant = 13.73 

 0.1643 ±Mean     = 150.4 

 0.1162 ±Sigma    = 1.859 

Vt50 (mV)100 110 120 130 140 150 160 170 180 190

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

16

18

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.596 ±Constant = 14.74 

 0.1531 ±Mean     = 149.3 

 0.1082 ±Sigma    = 1.732 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.596 ±Constant = 14.74 

 0.1531 ±Mean     = 149.3 

 0.1082 ±Sigma    = 1.732 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.8115 ±Constant = 7.496 

 0.3011 ±Mean     = 148.8 
 0.2129 ±Sigma    = 3.406 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.8115 ±Constant = 7.496 

 0.3011 ±Mean     = 148.8 
 0.2129 ±Sigma    = 3.406 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.326 ±Constant = 12.25 

 0.1842 ±Mean     = 148.9 
 0.1302 ±Sigma    = 2.084 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.326 ±Constant = 12.25 

 0.1842 ±Mean     = 148.9 
 0.1302 ±Sigma    = 2.084 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.588 ±Constant = 14.66 

 0.1539 ±Mean     = 152.8 
 0.1088 ±Sigma    = 1.741 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.588 ±Constant = 14.66 

 0.1539 ±Mean     = 152.8 
 0.1088 ±Sigma    = 1.741 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.013 ±Constant =  18.6 
 0.1213 ±Mean     = 56.88 
 0.0858 ±Sigma    = 1.373 

Chip 0 Gain at 2.00fC Nent = 128    

 2.013 ±Constant =  18.6 
 0.1213 ±Mean     = 56.88 
 0.0858 ±Sigma    = 1.373 
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 1.869 ±Constant = 17.27 
 0.1307 ±Mean     = 57.31 
 0.0924 ±Sigma    = 1.479 
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 2.273 ±Constant =    21 
 0.1075 ±Mean     = 55.84 
 0.07599 ±Sigma    = 1.216 
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 2.145 ±Constant = 19.73 

 0.1139 ±Mean     = 56.79 

 0.08055 ±Sigma    = 1.284 
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 2.446 ±Constant = 22.59 

 0.09989 ±Mean     = 54.98 

 0.07063 ±Sigma    =  1.13 
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 1.879 ±Constant = 17.36 

  0.13 ±Mean     = 59.01 

 0.09194 ±Sigma    = 1.471 
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 1.879 ±Constant = 17.36 

  0.13 ±Mean     = 59.01 

 0.09194 ±Sigma    = 1.471 
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 2.986 ±Constant = 27.58 

 0.1636 ±Mean     =  34.8 
 0.1157 ±Sigma    = 1.851 
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 2.986 ±Constant = 27.58 
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 0.1157 ±Sigma    = 1.851 
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 2.871 ±Constant = 26.52 

 0.1702 ±Mean     =  34.1 
 0.1204 ±Sigma    = 1.926 
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 2.871 ±Constant = 26.52 
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 0.1204 ±Sigma    = 1.926 
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  3.25 ±Constant = 30.02 

 0.1503 ±Mean     = 36.21 
 0.1063 ±Sigma    = 1.701 
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 1.312 ±Constant = 12.12 
 0.3723 ±Mean     =  34.2 
 0.2633 ±Sigma    = 4.212 
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 0.2633 ±Sigma    = 4.212 
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  2.18 ±Constant = 20.13 
 0.2242 ±Mean     = 37.23 
 0.1585 ±Sigma    = 2.536 
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  2.18 ±Constant = 20.13 
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 0.1585 ±Sigma    = 2.536 
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 2.697 ±Constant = 24.91 
 0.1812 ±Mean     = 31.96 
 0.1281 ±Sigma    =  2.05 
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 2.697 ±Constant = 24.91 
 0.1812 ±Mean     = 31.96 
 0.1281 ±Sigma    =  2.05 
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 5.273 ±Constant = 48.71 

 3.089 ±Mean     =  1330 

 2.184 ±Sigma    = 34.95 
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 5.273 ±Constant = 48.71 

 3.089 ±Mean     =  1330 

 2.184 ±Sigma    = 34.95 
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  5.02 ±Constant = 46.37 
 3.244 ±Mean     =  1364 

 2.294 ±Sigma    = 36.71 
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  5.02 ±Constant = 46.37 
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 2.294 ±Sigma    = 36.71 
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 4.005 ±Constant = 36.99 

 4.067 ±Mean     =  1449 

 2.876 ±Sigma    = 46.01 
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 4.005 ±Constant = 36.99 

 4.067 ±Mean     =  1449 

 2.876 ±Sigma    = 46.01 
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 4.352 ±Constant =  40.2 
 3.743 ±Mean     =  1428 
 2.646 ±Sigma    = 42.34 
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 2.646 ±Sigma    = 42.34 

Input Noise (ENC)0 500 1000 1500 2000 2500
n

(C
h

an
n

el
s)

0

5

10

15

20

25

30

35

40

45

Chip 4 Input Noise at 2.00fC Nent = 128    

 4.784 ±Constant =  44.2 
 3.404 ±Mean     =  1405 
 2.407 ±Sigma    = 38.51 
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 4.784 ±Constant =  44.2 
 3.404 ±Mean     =  1405 
 2.407 ±Sigma    = 38.51 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.841 ±Constant = 44.72 
 3.364 ±Mean     =  1322 
 2.379 ±Sigma    = 38.06 
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 4.841 ±Constant = 44.72 
 3.364 ±Mean     =  1322 
 2.379 ±Sigma    = 38.06 
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